Answers to Questions on Page 319
2. a) There is a balance of hydrogen and hydroxide ions and the pH is 7.

    b) The pH would rise from 3 to 7.

3. a) hydrochloric acid + sodium hydroxide -> sodium chloride + water

    b) hydrochloric acid + potassium hydroxide -> potassium chloride + water

    c) nitric acid + sodium hydroxide -> sodium nitrate + water

    d) sulfuric acid + potassium hydrogen carbonate -> potassium sulfate + water + carbon dioxide

4. a) NaOH + HCl -> NaCl + H2O

    b) KOH + HCl -> KCl + H2O

    c) HNO3 + NaOH -> NaNO3 + H2O

    d) H2SO4 + 2KHCO3 -> K2SO4 + 2H2O + 2CO2
6. Lemon juice contains an acid that neutralizes the amine bases in the fish oil, thus removing the smell of fish oil from your fingers.

